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f0 1. - 49 10. ssmeynsuiFosues f(z) Wefmun f(z +27) = f(z)

9.

T
0 ;

-7 <xr<0

0Lz<nrm

—7Z'SI<—7Z'/2
—72/2Sx<7r/2
72/2£x<7r

f(z)=zsinz ; 0<z <27

2 fa) 0 ; —7<z<0
' AP : 0<z<nm
simzx ; O<z<rx
4. flz)=
0  nm<z<2rz
6 f(2) T+zx ; —n<zx<0
= r—z ; 0O<z<nm
8. flr)y=e€¢"; -n<zx<nm
0. f(z)=2"; - x<a<nm

fo 11. - 4 20. meynsuWEesves f(z) Wedwua f(z +2L) = f(z)

x+1 ; -1<z2<0
WS@= . g<e<t

0 ; 2<zr<-1
12 f(z)=12 ; -l<z<l1

0 ; 1<z<2

r+2 ; 2<x<0
B @ =19 9y . 0<r<2
" 0 ;7 3<z<0
@)= 2’(3-1) ; O0<z<3

;7 2<z<0

15 flw) = 1, : 0<z<2

2x—§m

16. f(z)=¢€¢"; 0<z<2

dleo fz+2) = f(a)

de flz+4) = f(z)

do fz+4) = f(z)

e f(z +6) = f(z)

de fz+4) = f(z)

de fz +2) = f(z)

aunsuyises | 1
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17.

18.

19.

20.

99 21.
99 22.

99 23.

49 24.

99 25.

aunsuyises | 2

f(x>:%2;—23x32 de fz+4) = f(z)

flr)=2-2° ; —1<2<1 e flz+2)= f(z)

fle)=1-2"; -1<z<1 de f(z+2) = f(z)
0 ; -1< 0 y

f($)={x2 eno o f(o+2) = f(2)

inuali f(z) =2—2° We 0 < z < 2 weynsuyiseslel
° v 9 - = ¢
mvuali f(z) = 2° — 22 We 0 < z < 4 wneunsuiesialy

mvuald f(z) =1 e 0 <z < 7 meynsuseslale

0 ;: O<z<n~x
mvuali f(z) =31 ; 7 <z <27 wmsynsulseslel
2

2r<x < 3w

Y

mvuali f(z) = —z We -7 < z < 0 wneunsuiesle



